

Quotation



Bill to: C01404
City of Sunnyvale - Accounts Payable
ATTN: Jenny Chang
PO Box 3707
Sunnyvale, CA 94088-3707
USA

Ship to:
Sunnyvale Lakewood Branch
Library & Learning Center
790 Lakechime Dr
Sunnyvale, CA 94089
USA

Totals:
Total nontaxable \$0.00
Total taxable \$151,652.97
Tax \$13,838.33
TOTAL AMOUNT - USD \$165,491.30

Information

Quote: 416142-03 Description: Lakewood Library -MK Omnia Contract
Document date: 12/1/2025
Payment terms: Net 30
Expiration date: 12/19/2025

Team

Sales representative: Stacey Bailey sbailey@pivotinteriors.com 925 218 0934
Sales coordinator: Melissa Giuffrida mgiuffrida@pivotinteriors.com 408 432 5757

Line	Item number	Description	Tag	Quantity	Unit price	Extended	
1	NOTE	QUOTE MILLERKNOLL PRODUCT		1.00	\$0.00	\$0.00	
2	NOTE	HERMAN MILLER OMNIA CONTRACT # AP5428		1.00	\$0.00	\$0.00	
3	NOTE	KNOLL OMNIA CONTRACT # KPR77208		1.00	\$0.00	\$0.00	
4	NOTE	SHIP MK PRODUCT FOR RECEPTION DESK TO Studio Craft 5265 Kellogg Woods Dr. Ste B Kentwood, MI 49548 616-940-0563		1.00	\$0.00	\$0.00	
5	DV7AC.30D1	@Motia Ht Adj Base Kit w/ C-Foot,30" d (29" surf size),electric ext range,legs outbd (no surf mounted storage) @digital read out with memory @silver (CP) @glides	Pivot/to Studio craft 416142	3.00	\$771.63	\$2,314.89	T
6	FT154.1	+Pwr Jumper,22" l	Pivot/to Studio craft 416142	1.00	\$28.12	\$28.12	T
	LZ	+PVC-free					
7	FT154.2	+Pwr Jumper,36" l	Pivot/to Studio craft 416142	1.00	\$38.80	\$38.80	T
	LZ	+PVC-free					
8	FT110.3530X	+Frame,35" h,30" w,no base covers	Pivot/to Studio craft 416142	6.00	\$58.07	\$348.42	T
9	FT110.3536X	+Frame,35" h,36" w,no base covers	Pivot/to Studio craft 416142	1.00	\$60.93	\$60.93	T
10	FT110.3542X	+Frame,35" h,42" w,no base covers	Pivot/to Studio craft 416142	3.00	\$63.02	\$189.06	T
11	FT110.5330X	+Frame,53" h,30" w,no base covers	Pivot/to Studio craft 416142	1.00	\$67.18	\$67.18	T
12	FT110.5348X	+Frame,53" h,48" w,no base covers	Pivot/to Studio craft 416142	2.00	\$77.34	\$154.68	T
13	FT112.30AP	+Frame Top Cap,30" w,std,painted	Pivot/to Studio craft 416142	7.00	\$15.36	\$107.52	T
	SNC	+satin carbon					
14	FT112.36AP	+Frame Top Cap,36" w,std,painted	Pivot/to Studio craft 416142	1.00	\$16.67	\$16.67	T
	SNC	+satin carbon					

Quotation



SAQT-000083746

15	FT112.42AP	+Frame Top Cap,42" w,std,painted	Pivot/to Studio craft 416142	3.00	\$18.49	\$55.47	T
	SNC	+satin carbon					
16	FT112.48AP	+Frame Top Cap,48" w,std,painted	Pivot/to Studio craft 416142	2.00	\$19.53	\$39.06	T
	SNC	+satin carbon					
17	FT121.246	+90◊ Universal Con,2 way, 90◊ or 180◊,for 46H frames & low	Pivot/to Studio craft 416142	3.00	\$23.44	\$70.32	T
18	FT121.257	+90◊ Universal Con,2 way, 90◊ or 180◊,for 53"-high frames & higher	Pivot/to Studio craft 416142	1.00	\$35.67	\$35.67	T
19	FT123.235BP	+90◊ Con Cover,2 sides covered,35" h,base cover/to-the-floor tile,painted	Pivot/to Studio craft 416142	3.00	\$28.90	\$86.70	T
	SNC	+satin carbon					
20	FT123.253BP	+90◊ Con Cover,2 sides covered,53" h,base cover/to-the-floor tile,painted	Pivot/to Studio craft 416142	1.00	\$31.77	\$31.77	T
	SNC	+satin carbon					
21	FT126.2AP	+90◊ Con Top Cap,for 2 frame top caps, 90◊,painted	Pivot/to Studio craft 416142	4.00	\$14.84	\$59.36	T
	SNC	@satin carbon					
22	FT128.35	+Frame-to-Frame Connection Hardware,35" h	Pivot/to Studio craft 416142	5.00	\$9.90	\$49.50	T
23	FT128.53	+Frame-to-Frame Connection Hardware,53" h	Pivot/to Studio craft 416142	1.00	\$11.98	\$11.98	T
24	FT140.06	+Pwr Entry, External Direct Connect,6' l	Pivot/to Studio craft 416142	2.00	\$65.88	\$131.76	T
	LZ	+PVC-free					
25	FT150.30	+Base Pwr Harness,30" w	Pivot/to Studio craft 416142	6.00	\$50.26	\$301.56	T
	LZ	+PVC-free					
26	FT150.42	+Base Pwr Harness,42" w	Pivot/to Studio craft 416142	1.00	\$54.94	\$54.94	T
	LZ	+PVC-free					
27	FT150.48	+Base Pwr Harness,48" w	Pivot/to Studio craft 416142	2.00	\$58.33	\$116.66	T
	LZ	+PVC-free					
28	FT155.A	+Receptacle, 15 Amp (package of 6),duplex, circ a 6/Pkg	Pivot/to Studio craft 416142	2.00	\$69.01	\$138.02	T
	G1	+graphite (CP)					
29	FT160.35BP	+Fin End,35" h,base cover/to-the-floor tile,painted	Pivot/to Studio craft 416142	4.00	\$24.48	\$97.92	T
	SNC	+satin carbon					
30	FT160.53BP	+Fin End,53" h,base cover/to-the-floor tile,painted	Pivot/to Studio craft 416142	2.00	\$27.34	\$54.68	T
	SNC	+satin carbon					
31	FT170.3030L	+Low Tile,30" h,30" w,high-pressure lam	Pivot/to Studio craft 416142	1.00	\$151.03	\$151.03	T
	LBU	+medium matte walnut (CP)					
	G1	+graphite (CP)					
32	FT170.3036L	+Low Tile,30" h,36" w,high-pressure lam	Pivot/to Studio craft 416142	1.00	\$164.31	\$164.31	T
	LBU	+medium matte walnut (CP)					
	G1	+graphite (CP)					
33	FT170.3042L	+Low Tile,30" h,42" w,high-pressure lam	Pivot/to Studio craft 416142	3.00	\$173.95	\$521.85	T
	LBU	+medium matte walnut (CP)					
	G1	+graphite (CP)					
34	FT170.3048L	+Low Tile,30" h,48" w,high-pressure lam	Pivot/to Studio craft 416142	2.00	\$186.71	\$373.42	T
	LBU	+medium matte walnut (CP)					
	G1	+graphite (CP)					

Quotation



SAQT-000083746

35	FT181.1830L LBU G1	+Upper Tile,18" h (for 53" h frames only),30" w,high-pressure lam +medium matte walnut (CP) +graphite (CP)	Pivot/to Studio craft 416142	1.00	\$124.73	\$124.73	T
36	FT181.1848L LBU G1	+Upper Tile,18" h (for 53" h frames only),48" w,high-pressure lam +medium matte walnut (CP) +graphite (CP)	Pivot/to Studio craft 416142	2.00	\$148.95	\$297.90	T
37	FT370.3060L LBU G1	+Extended-Width Low Tile,30" h,60" w,high-pressure lam +medium matte walnut (CP) +graphite (CP)	Pivot/to Studio craft 416142	2.00	\$247.64	\$495.28	T
38	FT963.30JTF SNC	+Sng Sided Base Cover Kit,30" w,power/data knockouts,to-the-floor tiles on 1 side +satin carbon	Pivot/to Studio craft 416142	6.00	\$20.31	\$121.86	T
39	FT963.36NTF SNC	+Sng Sided Base Cover Kit,36" w,no knockouts,to-the-floor tiles on 1 side +satin carbon	Pivot/to Studio craft 416142	1.00	\$21.87	\$21.87	T
40	FT963.42JTF SNC	+Sng Sided Base Cover Kit,42" w,power/data knockouts,to-the-floor tiles on 1 side +satin carbon	Pivot/to Studio craft 416142	1.00	\$22.92	\$22.92	T
41	FT963.42NTF SNC	+Sng Sided Base Cover Kit,42" w,no knockouts,to-the-floor tiles on 1 side +satin carbon	Pivot/to Studio craft 416142	2.00	\$22.92	\$45.84	T
42	FT963.48JTF SNC	+Sng Sided Base Cover Kit,48" w,power/data knockouts,to-the-floor tiles on 1 side +satin carbon	Pivot/to Studio craft 416142	2.00	\$25.00	\$50.00	T
43	L2ST.030206 LBU	+Stg Tops,30" w,20" d,1 1/4" h - pressure lam top @medium matte walnut (CP)	Pivot/to Studio craft 416142	1.00	\$107.39	\$107.39	T
44	L2ST.036246 LBU	+Stg Tops,36" w,24" d,1 1/4" h - pressure lam top @medium matte walnut (CP)	Pivot/to Studio craft 416142	1.00	\$136.62	\$136.62	T
45	L4EW.30205FFHKM LBU SNC SNC CB KC	@Tu Wood Ext Width Surface-Attached Pedestal,30" w,20" d,ft,FF,high-pressure lam w/ thermo edge,bar pull,metal @medium matte walnut (CP) @satin carbon @satin carbon +counterweight +keyed differently, chrome	Stations/ reception	1.00	\$766.48	\$766.48	T
46	L4EW.36245DSHK LBU SNC SNC NO KC	@Tu Wood Ext Width Surface-Attached Pedestal,36" w,24" d,ft,dr w/ sh,high-pressure lam w/ thermo edge,bar pull @medium matte walnut (CP) @satin carbon @satin carbon +no counterweight +keyed differently, chrome	Stations/ reception	1.00	\$755.40	\$755.40	T
47	2SCSXGL 4 DG ~ (K2068) K206814	MultiGeneration by Knoll stacking chair, armless, glides FRAME: Silver SHELL: Dark Grey Standard Textile TEX: Tinge (B) COL: Neptune	C1.1: Community rooms	51.00	\$277.43	\$14,148.93	T
48	2SASXGL	MultiGeneration by Knoll stacking chair, fixed arms, glides	C1: Community rooms	29.00	\$297.27	\$8,620.83	T



Quotation

SAQT-000083746

	4 DG ~ (K2068) K206814	FRAME: Silver SHELL: Dark Grey Standard Textile TEX: Tinge (B) COL: Neptune					
49	25TCN2HC	MultiGeneration by Knoll, 5-star base, high task cylinder, armless, non-upholstered, black plastic base, hard casters	C2: Maker Space	8.00	\$399.74	\$3,197.92	T
	DG	SHELL: Dark Grey					
50	25SCN2HC	MultiGeneration by Knoll, 5-star base, standard cylinder, armless, non-upholstered, black plastic base, hard casters	C3: Maker Space	4.00	\$307.80	\$1,231.20	T
	DG	SHELL: Dark Grey					
51	2SCSXHC	MultiGeneration by Knoll stacking chair, armless, hard casters	C4: Staff Various Meeting-	14.00	\$277.43	\$3,884.02	T
	4 DG ~ (K2068) K206814	FRAME: Silver SHELL: Dark Grey Standard Textile TEX: Tinge (B) COL: Neptune					
52	2SASXHC	MultiGeneration by Knoll stacking chair, fixed arms, hard casters	C4:1 Staff Various Meeting	16.00	\$311.85	\$4,989.60	T
	4 DG ~ (K2068) K206814	FRAME: Silver SHELL: Dark Grey Standard Textile TEX: Tinge (B) COL: Neptune					
53	SHMU	Shipping Fee		1,511.00	\$0.00	\$0.00	
54	FREIGHT-WHSE	MUUTO FREIGHT		1.00	\$1,889.13	\$1,889.13	T
55	MNRDCW	Nerd Chair	C5.B: Open Library-Teen area	8.00	\$440.44	\$3,523.52	T
	OAK	WOOD: Oak					
56	MNRDCW STDB	Nerd Chair WOOD: Stained Dark Brown	C5: Open Library	38.00	\$448.91	\$17,058.58	T
57	KLTPW7230C	Pixel Simplified Table, T-Leg Flip, 72X30 Work Height, Casters	T1: Community Rooms	40.00	\$986.42	\$39,456.80	T
	LBU (FLAT) LBU (Y) Y 115T	LAM: Medium Matte Walnut (CP) EDGE: Flat EDGE: Medium Matte Walnut (CP) No Cutouts No Cutouts LEG: Medium Grey (textured)					
58	KLTPW6024C	Pixel Simplified Table, T-Leg Flip, 60X24 Work Height, Casters	T3: Tech Skills Lab	6.00	\$908.16	\$5,448.96	T
	LBU (FLAT) LBU (Y) Y 115T	LAM: Medium Matte Walnut (CP) EDGE: Flat EDGE: Medium Matte Walnut (CP) No Cutouts No Cutouts LEG: Medium Grey (textured)					
59	DT1BS.4848LP	+Everywhere Square Table,sq-edge,48" d x 48" w,high-pressure lam top/thermoplastic edge,post leg +medium matte walnut (CP) +medium matte walnut (CP)	T4: Staff Lounge,	1.00	\$491.63	\$491.63	T
	LBU LBU MT 57	+medium tone +glides					
60	DT1CS.48LP	+Everywhere Round Table,Squared Edge,Lam Top/Thermo Edge,Post Leg 48Dia	T5: Manager	1.00	\$568.29	\$568.29	T



Quotation

SAQT-000083746

	LBU LBU MT 57	+medium matte walnut (CP) +medium matte walnut (CP) +medium tone +glides					
61	SA942782	Personal Side Screen	T6.A: Computers/Copy Print	4.00	\$299.81	\$1,199.24	T
	!	Standard Product Reference:Y1117.13TCOMNSU2					
	!	Standard Product Reference::Y1117.13TCOMNSU2					
	!	Deviation::Height					
	!	Height::16" High					
	!	Surface Material:T:tackable fabric					
	!	Fabric:COM:customer's own material					
	!	Customer's Own Material Entry:N5U2:CMBRN LDP 35 Synergy 66 Chemistry - MillerKnoll to Purchase					
62	UTPDA	Duplex for Table, Circuit A	T6.A: Computers/Copy Print	8.00	\$20.40	\$163.20	T
63	UTPDB	Duplex for Table, Circuit B	T6.A: Computers/Copy Print	8.00	\$20.40	\$163.20	T
64	UTPIE85C	Electrical Infeed for Table, 8 wire (2+2), conduit	T6.A: Computers/Copy Print	2.00	\$102.85	\$205.70	T
65	UTPJE36	Jumper for Table, 36W, 8 wire (2+2)	T6.A: Computers/Copy Print	2.00	\$45.48	\$90.96	T
66	UTPC18	Raceway Cover for Table, 18W, double sided	T6.A: Computers/Copy Print	4.00	\$53.55	\$214.20	T
	115	PAINT: Medium Grey					
67	UTPYE	Raceway End Caps, Pack of 2	T6.A: Computers/Copy Print	2.00	\$8.93	\$17.86	T
	115	PAINT: Medium Grey					
68	UTSDS1484PU2CL	Sawhorse Workbench Divider Screen, 14Hx84W, with Cordset Power and USB Both Sides, Laminate	T6.A: Computers/Copy Print	2.00	\$948.18	\$1,896.36	T
	LBU LBU 115T B	LAM: Medium Matte Walnut (CP) EDGE: Medium Matte Walnut (CP) PAINT: Medium Grey (Textured) POWER FINISH: Black					
69	UTSDH4E12	Sawhorse Workbench Power Harness, Eight Wire (2+2), holds 4 duplexes, 12W	T6.A: Computers/Copy Print	4.00	\$367.63	\$1,470.52	T
	115T	PAINT: Medium Grey					
70	UTSD2T844828E4S	Sawhorse Workbench, Tapered Top, 4" slot, Sawhorse Legs, 84Wx48Dx28H, 2 segment top	T6.A: Computers/Copy Print	2.00	\$2,417.40	\$4,834.80	T
	(LAMINATE) LBU LBU 115 115T (PAINTED) 115T	TOP: Laminate LAM: Medium Matte Walnut (CP) EDGE: Medium Matte Walnut (CP) UNDEREDGE: Medium Grey PAINT: Medium Grey (Textured) LEG: Painted LEG: Medium Grey (Textured)					
71	SA946455	Personal Side Screen	T-6.B Teen's	2.00	\$299.81	\$599.62	T
	*	Standard Product Reference:Y1117.13TCOMN213					
	*	Standard Product Reference::Y1117.13TCOMN213					
	*	Deviation::Height					
	*	Height:16:16" high					
	*	Surface Material:T:tackable fabric					
	*	Fabric:COM:customer's own material					
	*	Customer's Own Material Entry:N213:CMBRN LDP - 59 Synergy 66 Group (T)/panel fab - MillerKnoll to Purchase					
72	UTPDA	Duplex for Table, Circuit A	T-6.B Teen's	4.00	\$20.40	\$81.60	T



Quotation

SAQT-000083746

73	UTPDB	Duplex for Table, Circuit B	T-6.B Teen's	4.00	\$20.40	\$81.60	T
74	UTPIE85C	Electrical Infeed for Table, 8 wire (2+2), conduit	T-6.B Teen's	1.00	\$102.85	\$102.85	T
75	UTPJE36	Jumper for Table, 36W, 8 wire (2+2)	T-6.B Teen's	1.00	\$45.48	\$45.48	T
76	UTPC18	Raceway Cover for Table, 18W, double sided	T-6.B Teen's	2.00	\$53.55	\$107.10	T
	115	PAINT: Medium Grey					
77	UTPYE	Raceway End Caps, Pack of 2	T-6.B Teen's	1.00	\$8.93	\$8.93	T
	115	PAINT: Medium Grey					
78	UTSDS1484PU2CL	Sawhorse Workbench Divider Screen, 14Hx84W, with Cordset Power and USB Both Sides, Laminate	T-6.B Teen's	1.00	\$948.18	\$948.18	T
	LBU	LAM: Medium Matte Walnut (CP)					
	LBU	EDGE: Medium Matte Walnut (CP)					
	115T	PAINT: Medium Grey (Textured)					
	B	POWER FINISH: Black					
79	UTSDH4E12	Sawhorse Workbench Power Harness, Eight Wire (2+2), holds 4 duplexes, 12W	T-6.B Teen's	2.00	\$367.63	\$735.26	T
	115T	PAINT: Medium Grey					
80	UTSD2T844828E4S	Sawhorse Workbench, Tapered Top, 4" slot, Sawhorse Legs, 84Wx48Dx28H, 2 segment top	T-6.B Teen's	1.00	\$2,417.40	\$2,417.40	T
	(LAMINATE)	TOP: Laminate					
	LBU	LAM: Medium Matte Walnut (CP)					
	LBU	EDGE: Medium Matte Walnut (CP)					
	115	UNDEREDGE: Medium Grey					
	115T	PAINT: Medium Grey (Textured)					
	(PAINTED)	LEG: Painted					
	115T	LEG: Medium Grey (Textured)					
81	DT1BS.4848LP	+Everywhere Square Table,Squared Edge,Lam Top/Thermo Edge,Post Leg 48D 48W	T7: Group Study	3.00	\$491.63	\$1,474.89	T
	LBU	+medium matte walnut (CP)					
	LBU	+medium matte walnut (CP)					
	MT	+medium tone					
	57	+glides					
82	DT1BS.3636LP	+Everywhere Square Table,Squared Edge,Lam Top/Thermo Edge,Post Leg 36D 36W	T8: Group Study + Teen	4.00	\$382.68	\$1,530.72	T
	LBU	+medium matte walnut (CP)					
	LBU	+medium matte walnut (CP)					
	MT	+medium tone					
	57	+glides					
83	FE1LW	@Cyclade Tables,low,wood	T19: Adult	1.00	\$931.08	\$931.08	T
	EN	@ebony					
	BLX	@onyx ultra matte					
84	FE1MW	@Cyclade Tables,mid,wood	T19: Adult	1.00	\$715.45	\$715.45	T
	EN	@ebony					
	BLX	@onyx ultra matte					
85	FE1TW	@Cyclade Tables,tall,wood	T19: Adult	1.00	\$571.70	\$571.70	T
	EN	@ebony					
	BLX	@onyx ultra matte					
86	TBH CPC	Tone Hinged Cleat Plate Cover	T:20	1.00	\$61.74	\$61.74	T
	115	PAINT: Medium Grey (Smooth)					
87	TBCEAL22G	Tone Electric Height Adjustable C-Leg Table Base with Adjustable Crossbar, Large 61-1/4W to 89-1/4W x 22D, with glides (for use with 66W to 96W x 24D nominal top)	T20: Creation Lab	1.00	\$1,307.25	\$1,307.25	T
	S	SWITCH: Standard					
	115	PAINT: Medium Grey (Smooth)					

Quotation



SAQT-000083746

88	TTDR7623N	Tone Dividends Horizon Table Top, Rectangular, 76W x 23D x 1-1/4H, no grommet Core Laminates LAM: Medium Matte Walnut (CP) EDGE: Medium Matte Walnut (CP)	T20: Creation Lab	1.00	\$245.07	\$245.07	T
	(CORE) LBU LBU						
89	TBHCPC 115	Tone Hinged Cleat Plate Cover PAINT: Medium Grey (Smooth)	D1: Staff	3.00	\$61.74	\$185.22	T
90	TBCEAM22G	Tone Electric Height Adjustable C-Leg Table Base with Adjustable Crossbar, Medium 41-3/4W to 69-1/4W x 22D, with glides (for use with 42W to 78W x 24D nominal top) SWITCH: Standard PAINT: Medium Grey (Smooth)	D1: Staff	3.00	\$1,296.23	\$3,888.69	T
	S 115						
91	TTDR5823N	Tone Dividends Horizon Table Top, Rectangular, 58W x 23D x 1-1/4H, no grommet Core Laminates LAM: Medium Matte Walnut (CP) EDGE: Medium Matte Walnut (CP)	D1: Staff	3.00	\$202.55	\$607.65	T
	(CORE) LBU LBU						
92	TBHCPC 115	Tone Hinged Cleat Plate Cover PAINT: Medium Grey (Smooth)	D2: Manager	2.00	\$61.74	\$123.48	T
93	DB1F24SP	Flat Bracket 24" - Single Pack	D2: Manager	1.00	\$14.81	\$14.81	T
94	TBKEAM16G	Tone Electric Height Adjustable 90 Degree Corner Table Base, Adjustable Width, Medium 47-1/4W to 74-1/2W x 16D, with glides (48W-84W returns) SWITCH: Standard PAINT: Medium Grey (Smooth)	D2: Manager	1.00	\$1,777.23	\$1,777.23	T
	S 115						
95	TTDR5823N	Tone Dividends Horizon Table Top, Rectangular, 58W x 23D x 1-1/4H, no grommet Core Laminates LAM: Medium Matte Walnut (CP) EDGE: Medium Matte Walnut (CP)	D2: Manager	2.00	\$202.55	\$405.10	T
	(CORE) LBU LBU						
96	TBHCPC 115	Tone Hinged Cleat Plate Cover PAINT: Medium Grey (Smooth)	D4: Staff	4.00	\$61.74	\$246.96	T
97	DB1F24SP	Flat Bracket 24" - Single Pack	D4: Staff	2.00	\$14.81	\$29.62	T
98	TBKEASM16G	Tone Electric Height Adjustable 90 Degree Corner Table Base, Adjustable Width, Small/Medium 35-1/4W to 50-1/2W (36W-60W return) and 47-1/4W to 74-1/2W (48W-84W return) x 16D, with glides SWITCH: Standard PAINT: Medium Grey (Smooth)	D4: Staff	2.00	\$1,777.23	\$3,554.46	T
	S 115						
99	TTDR4623N	Tone Dividends Horizon Table Top, Rectangular, 46W x 23D x 1-1/4H, no grommet Core Laminates LAM: Medium Matte Walnut (CP) EDGE: Medium Matte Walnut (CP)	D4: Staff	2.00	\$173.25	\$346.50	T
	(CORE) LBU LBU						
100	TTDR5223N	Tone Dividends Horizon Table Top, Rectangular, 52W x 23D x 1-1/4H, no grommet Core Laminates LAM: Medium Matte Walnut (CP) EDGE: Medium Matte Walnut (CP)	D4: Staff	2.00	\$188.06	\$376.12	T
	(CORE) LBU LBU						
101	L2PM.20BFH06K	@Mobile Pedestal, 20" d, BF, high-pressure lam w/ thermo edge, 1 1/4" high-pressure lam w/ thermo edge, bar pull	A5	6.00	\$622.17	\$3,733.02	T



Quotation

SAQT-000083746

	M	+metal					
	LBU	@medium matte walnut (CP)					
	LBU	@medium matte walnut (CP)					
	G1	@graphite (CP)					
	KC	+keyed differently, chrome					
102	L2SC.PD12015	@Cushion Top for Pedestals, 1H 19- 7/8D 15W	A5	6.00	\$135.70	\$814.20	T
	COM	@customer's own material-Pr Cat 1					
	NDFM	DESIGNTEX-SILICONE LEVEL-DIVE					

Note:

Due to continuing supply chain issues, lead times may vary, and are not guaranteed.
Products and services will be invoiced as delivered/performed

Total nontaxable	\$0.00
Total taxable	\$151,652.97
Tax	\$13,838.33
TOTAL AMOUNT - USD	\$165,491.30

Quotation



Bill to: C01404
City of Sunnyvale - Accounts Payable
ATTN: Jenny Chang
PO Box 3707
Sunnyvale, CA 94088-3707
USA

Ship to:
Sunnyvale Lakewood Branch
Library & Learning Center
790 Lakechime Dr
Sunnyvale, CA 94089
USA

Totals:
Total nontaxable \$0.00
Total taxable \$14,669.70
Tax \$1,338.61
TOTAL AMOUNT - USD \$16,008.31

Information

Quote: 416142-06 Description: Lakewood Library - Omnia Versteel
Document date: 12/1/2025
Payment terms: Net 30
Expiration date: 12/31/2025

Team

Sales representative: Stacey Bailey sbailey@pivotinteriors.com 925 218 0934
Sales coordinator: Melissa Giuffrida mgiuffrida@pivotinteriors.com 408 432 5757

Line	Item number	Description	Tag	Quantity	Unit price	Extended	
1	NOTE	VERSTEEL OMNIA CONTRACT		1.00	\$0.00	\$0.00	
	-	07-127					
2	MKU 3072REH36 C	VERSTEEL Maker 30x72 Utility Table, 36" High, Casters	T10: Maker Space-	4.00	\$2,199.56	\$8,798.24	T
	*	Std Powder Coat: Paly- Alloy (base Color)					
	*	Wood: Butcher Block-Maple					
	*	1 3/4" Edge w/Square Corners					
	*	Clear					
	*	Clear Matte					
	*	36" Table Height					
	*	quote KJ397-01 062					
3	MKU 3072REH29 C	VERSTEEL Maker 30x72 Utility Table, 29" High, Casters	T10.1: Maker Space-	2.00	\$2,187.24	\$4,374.48	T
	*	Std Powder Coat: Paly- Alloy (base Color)					
	*	Wood: Butcher Block-Maple					
	*	1 3/4" Edge w/Square Corners					
	*	Clear					
	*	Clear Matte					
	*	Standard 29" Table Height					
4	FREIGHT-WHSE	Versteel Freight to Station's warehouse		1.00	\$1,496.98	\$1,496.98	T

Note:
Due to continuing supply chain issues, lead times may vary, and are not guaranteed.
Products and services will be invoiced as delivered/performed

Total nontaxable \$0.00
Total taxable \$14,669.70
Tax \$1,338.61
TOTAL AMOUNT - USD \$16,008.31

Quotation



Bill to: C01404
City of Sunnyvale - Accounts Payable
ATTN: Jenny Chang
PO Box 3707
Sunnyvale, CA 94088-3707
USA

Ship to:
Sunnyvale Lakewood Branch
Library & Learning Center
790 Lakechime Dr
Sunnyvale, CA 94089
USA

Totals:
Total nontaxable \$0.00
Total taxable \$7,865.88
Tax \$717.76
TOTAL AMOUNT - USD \$8,583.64

Information

Quote: 416142-07 Description: Lakewood Library -Omnia Arcadia
Document date: 12/1/2025
Payment terms: Net 30
Expiration date: 12/31/2025

Team

Sales representative: Stacey Bailey sbailey@pivotinteriors.com 925 218 0934
Sales coordinator: Melissa Giuffrida mgiuffrida@pivotinteriors.com 408 432 5757

Line	Item number	Description	Tag	Quantity	Unit price	Extended
1	NOTE	ARCADIA OMNIA CONTRACT 07-78		1.00	\$0.00	\$0.00
2	3702-V	3702-V Leaf Love Seat with Clean- Out, Stand Alone Unit	C8:	3.00	\$2,621.96	\$7,865.88 T
	G7	GRD: Upholstery Grade 7				
	DT7	DesignTex Grade 7				
	(SILICONE LEVEL)	PATTERN: Silicone Level				
	TOR	MERIDIAN 3052-404 SEAT CUSHION ONLY (LM10)				
	2TONE	TONE: Two-Tone COM/COV/COL/Same Grade for Guest/Executive/Conference Chairs/Stools				
	TONE-1	FABRIC: First Fabric (Location/Mfg/Pattern/Color)				
	TOR	MERIDIAN 3052-404 SEAT CUSHION ONLY (LM10)				
	TONE-2	FABRIC: Second Fabric (Location/Mfg/Pattern/Color)				
	TOR					
	TONE-END	FABRIC: ***Two-Tone Selection Completed***				
	PFM00	Leg Finish: Standard				
	0535	Metal Finish: #0535 Metallic Silver				
	TAR03	OPT: Rotating Tablet, Right (as seated)				
	LAM	Tablet Species: Laminated				
	L795438	Tablet Finish: Wilsonart 7954-38 Natural Rift				
	-----	Post Finish Matches Leg Finish (except #92 Polished Aluminum Leg Finish will be #91 Chrome Post Finish)				
	0535	Metallic Silver post				
	NS04	OPT: Glides (Non-Skid) (4pc)				
	*****	Options Complete				

Note:

Due to continuing supply chain issues, lead times may vary, and are not guaranteed.
Products and services will be invoiced as delivered/performed

Total nontaxable \$0.00
Total taxable \$7,865.88
Tax \$717.76
TOTAL AMOUNT - USD \$8,583.64

Quotation



Bill to: C01404
City of Sunnyvale - Accounts Payable
ATTN: Jenny Chang
PO Box 3707
Sunnyvale, CA 94088-3707
USA

Ship to:
Sunnyvale Lakewood Branch
Library & Learning Center
790 Lakechime Dr
Sunnyvale, CA 94089
USA

Totals:
Total nontaxable \$0.00
Total taxable \$11,141.02
Tax \$1,016.62
TOTAL AMOUNT - USD \$12,157.64

Information

Quote: 416142-08 Description: Lakewood Library -Omnia Davis
Document date: 12/1/2025
Payment terms: Net 30
Expiration date: 12/31/2025

Team

Sales representative: Stacey Bailey sbailey@pivotinteriors.com 925 218 0934
Sales coordinator: Melissa Giuffrida mgiuffrida@pivotinteriors.com 408 432 5757

Line	Item number	Description	Tag	Quantity	Unit price	Extended	
1	NOTE	DAVIS OMNIA CONTRACT 07-84		1.00	\$0.00	\$0.00	
2	PR-3052-LAM	DAVIS CUSTOM Length Table, 1- Piece Modular End Section, 30" High, 78"L x 24"D x 30"H, Laminate, Prat LAM-Finnish Oak-26 PR-90PU One 25 SPI15-4 * Top Material Color: Finish Oak Laminate Oiled Wood Power Option: Data/Power Surface Unit, 2 Power, 1 USB-A, 1 USB-C, Prat Wire Tray Metal: 25 Bronze Infeed Option: Power Infeed, Straight, with Plug, 15 Amp, 3.5m Length Quote 61733	T18: Adult/Family	2.00	\$4,023.54	\$8,047.08	T
3	PR-3024-E	DAVIS T-Leg with Pass-Through for Power/Data, 30" High, 24"D x 30"H, Prat * Metal Color: 25 Bronze	T18: Adult/Family	1.00	\$770.04	\$770.04	T
4	CUSTOM	DAVIS ENGINEERING FEE	T18	1.00	\$800.00	\$800.00	T
5	FREIGHT-WHSE	Davis Freight to Pivot Warehouse		1.00	\$1,523.90	\$1,523.90	T

Note:
Due to continuing supply chain issues, lead times may vary, and are not guaranteed.
Products and services will be invoiced as delivered/performed

Total nontaxable \$0.00
Total taxable \$11,141.02
Tax \$1,016.62
TOTAL AMOUNT - USD \$12,157.64

Quotation



Bill to: C01404
City of Sunnyvale - Accounts Payable
ATTN: Jenny Chang
PO Box 3707
Sunnyvale, CA 94088-3707
USA

Ship to:
Sunnyvale Lakewood Branch
Library & Learning Center
790 Lakechime Dr
Sunnyvale, CA 94089
USA

Totals:
Total nontaxable \$0.00
Total taxable \$1,308.96
Tax \$119.44
TOTAL AMOUNT - USD \$1,428.40

Information

Quote:	416142-09	Description:	Lakewood Library -Omnia Humanscale
Document date:	12/1/2025		
Payment terms:	Net 30		
Expiration date:	12/31/2025		

Team

Sales representative:	Stacey Bailey	sbailey@pivotinteriors.com	925 218 0934
Sales coordinator:	Melissa Giuffrida	mgiuffrida@pivotinteriors.com	408 432 5757

Line	Item number	Description	Tag	Quantity	Unit price	Extended
1	NOTE	OMNIA CONTRACT R221002		1.00	\$0.00	\$0.00
2	FM2WH1627BM	Humanscale Float Mini Table	A1	3.00	\$436.32	\$1,308.96
	*	Base: Cloud White, Surface : Bamboo				T

Note:

Due to continuing supply chain issues, lead times may vary, and are not guaranteed.
Products and services will be invoiced as delivered/performed

Total nontaxable \$0.00
Total taxable \$1,308.96
Tax \$119.44
TOTAL AMOUNT - USD \$1,428.40

Quotation



Bill to: C01404
City of Sunnyvale - Accounts Payable
ATTN: Jenny Chang
PO Box 3707
Sunnyvale, CA 94088-3707
USA

Ship to:
Sunnyvale Lakewood Branch
Library & Learning Center
790 Lakechime Dr
Sunnyvale, CA 94089
USA

Totals:
Total nontaxable \$0.00
Total taxable \$30,019.74
Tax \$2,739.30
TOTAL AMOUNT - USD \$32,759.04

Information

Quote: 416142-10 Description: Lakewood Library -Omnia OFS
Document date: 12/1/2025
Payment terms: Net 30
Expiration date: 12/31/2025

Team

Sales representative: Stacey Bailey sbailey@pivotinteriors.com 925 218 0934
Sales coordinator: Melissa Giuffrida mgiuffrida@pivotinteriors.com 408 432 5757

Line	Item number	Description	Tag	Quantity	Unit price	Extended	
1	NOTE	OFS OMNIA CONTRACT R240113		1.00	\$0.00	\$0.00	
2	110037	Sofy, 25.5x25x34, Guest Chair, Multiple Textiles	C15: Lactation- need fabric	1.00	\$1,537.54	\$1,537.54	T
	WDL	4 Leg Wood					
	~VEN	Veneer					
	MNW	Root					
	BK4	Black					
	~MAH	Maharam					
	~BLUFF	Bluff - Grade 7					
	3105722	Academy					
	~ETC	Graded-in Fabric					
	ETC13	Graded-in - Grade 13					
	ETC13	Designtex Sketch Sky 3849-402					
3	EW-42SQT	OFS Eleven Wood, 42" W x 42" D x 30" H ,Square table	T9A	8.00	\$1,974.25	\$15,794.00	T
	~VEN	Veneer					
	MNW-Q	Root (QUARTER GRAIN)					
	B6P	Flat					
	MNW-A	Root (on Ash)					
	B7G	Center Cutout					
4	PS-111B	OFS Black Power Supply (1) 15 amp outlets (1) HDMI port, (1) CAT6 Data (1) USB-A/C combo charging module, 12 foot Cord, 12' Cat6 Data Cable, 4' HDMI Cable	T9A	8.00	\$586.18	\$4,689.44	T
5	VCWM3	OFS 5x3.5x27.75 Vertical Wire	T9A	8.00	\$287.79	\$2,302.32	T
	MNW	Manager Root (MNW)					
6	EW-42SQT	OFS Eleven Wood, 42" W x 42" D x 30" H ,Square table	T9B	2.00	\$1,974.25	\$3,948.50	T
	~VEN	Veneer					
	MRO-Q	Linen (Quarter Grain)					
	B6P	Flat					
	MRO-A	Linen (on Ash)					
	B7G	Center Cutout					
7	PS-111B	OFS Black Power Supply (1) 15 amp outlets (1) HDMI port, (1) CAT6 Data (1) USB-A/C combo charging module, 12 foot Cord, 12' Cat6 Data Cable, 4' HDMI Cable	T9B	2.00	\$586.18	\$1,172.36	T
8	VCWM3	OFS 5x3.5x27.75 Vertical Wire	T9B	2.00	\$287.79	\$575.58	T
	MRO	Manager Linen (MRO)					

Quotation

SAQT-000084491

PIVOT

Note:

Due to continuing supply chain issues, lead times may vary, and are not guaranteed.
Products and services will be invoiced as delivered/performed

Total nontaxable	\$0.00
Total taxable	\$30,019.74
Tax	\$2,739.30
TOTAL AMOUNT - USD	\$32,759.04

Quotation



Bill to: C01404
City of Sunnyvale - Accounts Payable
ATTN: Jenny Chang
PO Box 3707
Sunnyvale, CA 94088-3707
USA

Ship to:
Sunnyvale Lakewood Branch
Library & Learning Center
790 Lakechime Dr
Sunnyvale, CA 94089
USA

Totals:
Total nontaxable \$0.00
Total taxable \$5,575.86
Tax \$508.80
TOTAL AMOUNT - USD \$6,084.66

Information

Quote: 416142-11 Description: Lakewood Library -Omnia Exemplis
Document date: 12/1/2025
Payment terms: Net 30
Expiration date: 12/31/2025

Team

Sales representative: Stacey Bailey sbailey@pivotinteriors.com 925 218 0934
Sales coordinator: Melissa Giuffrida mgiuffrida@pivotinteriors.com 408 432 5757

Line	Item number	Description	Tag	Quantity	Unit price	Extended
1	NOTE	EXEMPLIS OMNIA CONTRACT 914440		1.00	\$0.00	\$0.00
2	1033.BK2.F.AR4	SOI Novo, Highback, Mesh Back, Standard Synchro, Height Adjustable Arms	C16: Staff + Manager + Entry	9.00	\$619.54	\$5,575.86 T
	AL1	Black				
	LA1	Onyx				
	E3	Seat Depth Adjustment Upgrade				
	CH1	Standard Cylinder				
	FC1	Black Frame				
	B17	Black Nylon Base				
	CS5	Carpet Casters				
	MC21	Nickel Mesh				
	FABRIC	Fabric Grade Selections				
	~	No Selection				
	VG6	Fabric Grade 6				
	~	Designtex, Alphabet, Iron				
	AC	Fully Assembled in a Carton				

Note:

Due to continuing supply chain issues, lead times may vary, and are not guaranteed.
Products and services will be invoiced as delivered/performed

Total nontaxable \$0.00
Total taxable \$5,575.86
Tax \$508.80
TOTAL AMOUNT - USD \$6,084.66

Quotation



Bill to: C01404
City of Sunnyvale - Accounts Payable
ATTN: Jenny Chang
PO Box 3707
Sunnyvale, CA 94088-3707
USA

Ship to:
Sunnyvale Lakewood Branch
Library & Learning Center
790 Lakechime Dr
Sunnyvale, CA 94089
USA

Totals:
Total nontaxable \$0.00
Total taxable \$19,073.64
Tax \$1,740.47
TOTAL AMOUNT - USD \$20,814.11

Information

Quote: 416142-12 Description: Lakewood Library -Omnia Leland
Document date: 12/1/2025
Payment terms: Net 30
Expiration date: 12/31/2025

Team

Sales representative: Stacey Bailey sbailey@pivotinteriors.com 925 218 0934
Sales coordinator: Melissa Giuffrida mgiuffrida@pivotinteriors.com 408 432 5757

Line	Item number	Description	Tag	Quantity	Unit price	Extended	
1	NOTE	LELAND OMNIA CONTRACT 07-101		1.00	\$0.00	\$0.00	
2	CONFIG	LELAND Crystal Children's Table	T12: Children	2.00	\$1,057.50	\$2,115.00	T
	*	Table Height: 25" High					
	*	Base Finish: Kensington Maple					
	*	Top Size: 42" x 42"					
	*	Top Finish or Color: Kensington Maple					
	*	Edge Type: 1" Flat Plywood					
	*	Edge Finish or Color: Kensington Maple					
	*	Stain to Match edge: Kensington Maple					
3	CONFIG	LELAND Crystal Children's Table	T13: Children	2.00	\$1,031.16	\$2,062.32	T
	*	Table Height: 22" High					
	*	Base Finish: Kensington Maple					
	*	Top Size: 42" x 42"					
	*	Top Finish or Color: Kensington Maple					
	*	Edge Type: 1" Flat Plywood					
	*	Edge Finish or Color: Kensington Maple					
	*	Stain to Match edge: Kensington Maple					
4	CONFIG	LELAND Crystal Children's Table	T14: Children	2.00	\$1,004.27	\$2,008.54	T
	*	Table Height: 20" High					
	*	Base Finish: Kensington Maple					
	*	Top Size: 42" x 42"					
	*	Top Finish or Color: Kensington Maple					
	*	Edge Type: 1" Flat Plywood					
	*	Edge Finish or Color: Kensington Maple					
	*	Stain to Match edge: Kensington Maple					
	*	QUOTE Q09903-08					
5	QC-BP-15M-F032-SH16-	Leland Quince Children's Chair	C12A: Children	4.00	\$426.40	\$1,705.60	T
	*	Shell Style: Bump					
	*	Shell Finish: Neutral 15M					
	*	Shell Art: Raccoon Tracks					
	*	Seat Height: 16"H					
	*	Base Type: Solid Wood					
	*	Base Finish: Neutral 15M					
	*	Glides: Standard					
6	QC-BP-15M-F031-SH16-	Leland Quince Children's Chair	C12B: Children	4.00	\$426.40	\$1,705.60	T
	*	Shell Style: Bump					
	*	Shell Finish: Neutral 15M					
	*	Shell Art: Fox Tracks					
	*	Seat Height: 16"H					
	*	Base Type: Solid Wood					
	*	Base Finish: Neutral 15M					
	*	Glides: Standard					
7	QC-BP-48M--F015-SH14	Leland Quince Children's Chair	C13A: Children	4.00	\$403.90	\$1,615.60	T



Quotation

SAQT-000084493

	*	Shell Style: Bump					
	*	Shell Finish: Caribbean 2 - 48M					
	*	Shell Art: Hummingbird					
	*	Seat Height: 14"H					
	*	Base Type: Solid Wood					
	*	Base Finish: Neutral 15m					
	*	Glides: Standard					
8	QC-BP-48M--F046-SH14	Leland Quince Children's Chair	C13B: Children	4.00	\$403.90	\$1,615.60	T
	*	Shell Style: Bump					
	*	Shell Finish: Caribbean 2 - 48M					
	*	Shell Art: Butterflies					
	*	Seat Height: 14"H					
	*	Base Type: Solid Wood					
	*	Base Finish: Neutral 15m					
	*	Glides: Standard					
9	QC-BP-18M-F003-SH12-	Leland Quince Children's Chair	C14A: Children	4.00	\$359.45	\$1,437.80	T
	*	Shell Style: Bump					
	*	Shell Finish: Ink 2 18M					
	*	Shell Art: Tree Frog					
	*	Seat Height: 12"H					
	*	Base Type: Solid Wood					
	*	Base Finish: Neutral 15M					
	*	Glides: Standard					
10	QC-BP-18M-F004-SH12-	Leland Quince Children's Chair	C14B: Children	4.00	\$359.45	\$1,437.80	T
	*	Shell Style: Bump					
	*	Shell Finish: Ink 2 18M					
	*	Shell Art: Turtle					
	*	Seat Height: 12"H					
	*	Base Type: Solid Wood					
	*	Base Finish: Neutral 15M					
	*	Glides: Standard					
11	UPCHARGE	LELAND CUSTOM CHARGE		1.00	\$125.00	\$125.00	T
	*	Stain to Match: Edge Kensington Maple Crystal					
	*	tables edge					
12	FREIGHT-WHSE	Leland Freight to Pivot Warehouse		1.00	\$3,244.78	\$3,244.78	T

Note:

Due to continuing supply chain issues, lead times may vary, and are not guaranteed.
Products and services will be invoiced as delivered/performed

Total nontaxable	\$0.00
Total taxable	\$19,073.64
Tax	\$1,740.47
TOTAL AMOUNT - USD	\$20,814.11

Quotation



Bill to: C01404
City of Sunnyvale - Accounts Payable
ATTN: Jenny Chang
PO Box 3707
Sunnyvale, CA 94088-3707
USA

Ship to:
Sunnyvale Lakewood Branch
Library & Learning Center
790 Lakechime Dr
Sunnyvale, CA 94089
USA

Totals:
Total nontaxable \$0.00
Total taxable \$3,769.05
Tax \$343.93
TOTAL AMOUNT - USD \$4,112.98

Information

Quote: 416142-13 Description: Lakewood Library -Omnia Watson
Document date: 12/1/2025
Payment terms: Net 30
Expiration date: 12/31/2025

Team

Sales representative: Stacey Bailey sbailey@pivotinteriors.com 925 218 0934
Sales coordinator: Melissa Giuffrida mgiuffrida@pivotinteriors.com 408 432 5757

Line	Item number	Description	Tag	Quantity	Unit price	Extended	
1	NOTE	WATSON Omnia 07-129		1.00	\$0.00	\$0.00	
2	WAKEY-CHG	WATSON-CHANGE TOOL, STANDARD LOCK (078500)	S10	1.00	\$45.00	\$45.00	T
3	WAKEY-STD	WATSON-MASTER KEY, STANDARD LOCK (082000)	S10	1.00	\$39.38	\$39.38	T
4	WZ4L201562L	WATSON-ZONE FOUR STORAGE LOCKER, 20"D X 15"W X 62"H, LEFT HAND	S10	3.00	\$1,192.50	\$3,577.50	T
	~1 ! LOCK B	CASE FINISH: Walnut Heights FACE FINISH Walnut Heights FACTORY INSTALLED LOCKCORE BAR PULL - SILVER					
5	SURCHARGE	WATSON SURCHARGE		1.00	\$107.17	\$107.17	T

Note:
Due to continuing supply chain issues, lead times may vary, and are not guaranteed.
Products and services will be invoiced as delivered/performed

Total nontaxable \$0.00
Total taxable \$3,769.05
Tax \$343.93
TOTAL AMOUNT - USD \$4,112.98